CH 105 Supplemental Instruction

Email:
Website: CH105.yolasite.com
Sessions: Monday, 1:15-2:15, EB 128
Wednesday, 3:30-4:30, EB 133
Office Hour: Thursday, 3:30-4:30, EB 242 (Academic Success Center)

1. You have 4 moles of hydrogen atoms. How many individual atoms do you

have?
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2. Find the molar mass for the following compounds:
a. NaBr 25 T @0 =\0% 9/m ol o
b. PbSOs 2071 +32 + (4xi) = 202 Ahmnol
c. Ca(OH)z 40+ (2 XU + L2 )4\3 = N4 ¢ |0\

d. CeH1206 szw> Jr(\‘\g x‘;>+ UU”YU’> = \(E)O glmdl

3. How many moles of methane are in 30.4 grams of methane?
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4. How many grams of silver can be made from the reaction of 13.4g of copper
with an excess of silver nitrate? Molar masses : Ag 107.9g/mol : Cu 63.55
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4. What is the formula for percent yield? What does “limiting reactant”
mean? . +
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